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NAME:…………………………………………………………………………QUIZ(5)

I.D.#  :…………………………………………………………………………SEC.(     )

1. Given the Polynomial  
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   ,   Find:

(a) The set of all possible rational zeros.

(b) Apply Descate’s Rule sign to find the number of possible positive zeros and the number of possible negative zeros.
©.If x=1 is a zero of the given polynomial P(x) find the other zeros.
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NAME:…………………………………………………………………………QUIZ(4)

I.D.#  :…………………………………………………………………………SEC.(     )

1. Given the Polynomial  
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   ,   Find:

(a) The set of all possible rational zeros.

(b) Apply Descate’s Rule sign to find the number of possible positive zeros and the number of possible negative zeros.

© Find the zeros of  
[image: image3.wmf]).
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